L.5.1d

Recognize and correct inappropriate shifts in verb tense

* Required

1. Email *

2. Write your first and last name. *

3. Are the verbs in orange shifted correctly or incorrectly? * 1 point

| went to the food
store and bought
groceries.

Mark only one oval.

Correct Verb Shift

Incorrect Verb Shift



4. Are the verbs in orange shifted correctly or incorrectly? * 1 point

Solar energy
captures sunlight
and uses it to
heat water.

Mark only one oval.

Correct Verb Shift

Incorrect Verb Shift

5. Are the verbs in orange shifted correctly or incorrectly? * 1 point

| raise my hand
and asked my
teacher a
question.

Mark only one oval.

Correct Verb Shift

Incorrect Verb Shift



6. Are the verbs in orange shifted correctly or incorrectly? * 1 point

We use coal as a
source of energy.
We also used
water power.

Mark only one oval.

Correct Verb Shift

Incorrect Verb Shift

The highlighted verb in each sentence is incorrect. Pick the correct form of the
highlighted word.

7. Read the sentence correctly below. * 1 point

Jean reads out loud while the class listened.

Mark only one oval.

listened
listens

listening



8. Read the sentence correctly below. * 1 point

When Kevin got to school he goes straight to class.

Mark only one oval.

goes
went

will go

9. Read the sentence correctly below. * 1 point

Jane will expect a big birthday gift, so we had to get her one.

Mark only one oval.

had
will have

got

10. Select the sentence that has the correct shift in verbs. * 1 point
Mark only one oval.

I am riding my bike to the park and went on the monkey bars.
| rode my bike to the park and went on the monkey bars.

| will ride my bike to the park and went on the monkey bars.



11. Select the sentence that has the correct shift in verbs. * 1 point
Mark only one oval.

My brother is taking out a bowl to pour cereal into.
My brother took out a bowl to poured cereal into.

My brother is taking out a bowl to pouring cereal into.

12. Select the sentence that has the correct shift in verbs. * 1 point

Mark only one oval.

Carol is wondering if she will ever went to college.
Carol is wondering if she will ever go to college.

Carol wondered if she will ever went to college.

13. Select the sentence that has the correct shift in verbs. * 1 point

Mark only one oval.

Alex entered the contest, and he won.
Alex entered the contest, and he wins.

Alex will enter the contest, and he wins.
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